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The basic physical laws and quantitative estimations of phase permeability of collectors in the appendix to extraction of stocks which are resulted are

difficultly taken.
 

.
 

, ,
, 

 [9,8].
, , .

.

. , 
 ( . ). 

, , . , ,  «
» - , . 

, 

.  . 
, 

.
, 

, , 
, .  [1], 

, . 
. 

, .
, , , 

, , 
.

, , 

.

, 
, , 

,  [2,3].
-

. :
- ;
- ; ;
-   –   (

);
- , 

.
, 

,  ( , ,
).  [2].

, .

, , , : , ,
 – , 

,  – ,  – .
 – 

,  [1].
 Sb  Sk



                                                  S  = Z  ( 1 –  – y K ).                                                       (1)
                           S  = (1 – Z) K  + Z  ( 1 – ) + Z  y K  + Z  y K .                                (2)
                          S  = (1 – Z) (1 – K ) +  (Z – Z ) + Z  (1 – y K )                                (3)
                                                        Z  + Z  + Z  = Z                                                             (4)
                                                    Z  = S  / 1 -  - y K                                                           (5)
                           Z  = (S  – (1 – Z)(1 – K ) -  Z) / ( 1-y K  -  )                                 (6)
                                                        Z  = Z – Z  – Z                                                               (7)

 S  < S
                                                 S  = Z  ( 1 -  - y K )                                                                                   (8)
                                 S  = ( 1 – Z ) K  + Z  ( 1 -  ) + Z  y K                                        (9)
                                           S  = (1 – Z ) (1 – K ) +  Z                                               (10)
                                                            Z  + Z  = Z                                                                (11)
                                               Z  = S  / (1 -  –  * K                                                                              (12)
                                                            Z  = Z – Z                                                                 (13)
                                          = (S  – ( 1 – Z ) (1 – K ))/ Z                                             (14)
                                         S  = ( 1 – Z) ( 1 – K ) +  * Z                                             (15)

 S ,S ,S   – , ;
S k – ;
Z ,Z ,Z   – , , ;
Z – , ;
K  – ;

 –  [2,3].

,   –  
, 

:
- 

                                            K  = K  ( 1 – Z) + K *Z*  ;                                                (16)
- , 

                                                 Z = K  – K / K ( 1 – )                                                     (17)
-  S ;
- ,  - Z ;
- ,  S  > S

              f  = (( 1 –  K )4 (0,081 ln [ (1-  K )4 K] + 0,333)Z ) / (2 – Z )                 (18)
 K – , ;

- 

                                                f = ( y1 – y2 ) ( 1 -  )4/3                                                    (19)
  1 

                                                Z = exp ( - X2) ( X2 + 1)
                                       1 = 0,5 exp ( - X2) ( X4 + 2X2 +2);

y 2 

                                                Z  = exp ( - X2) ( X2 + 1)
                                       2 = 0,5 exp ( - X2) ( X4 + 2X2 +2);

 S <S  f  = 0, 

                                                     = y 1 ( 1 - . )4/3                                                        (20)
 ( )  S  > (1 – K ),

 f  = 0, 
              f  = ((0,081 ln  K] + 0,333)  ( 1 - ))/ ((1 - )   + 2 K ))                  (21)

 W 
                              ( 1 - S) = ( 1 -  ) / ( 1 + (( 1 - ) W) / K  )                                        

 S  < ( 1 – K  )  (18) – (20)   = 0 ; K
= 1 - .

 S   S 
 (18), 



                                                f  = ( y3 – y2) ( 1-  ) 4/3                                                                                       

 y 3
                                          Z  + Z  = exp ( - X 2 ) ( X 2 + 1)
                                      y3 = 0,5 exp ( -X2 ) ( X4 + 2X2 + 2),

                                                f  = ( y1 – y3 ) ( 1 -  )4/3

 S  < S  f  = 0, 
                                                      f  = y3 (1-  ) 4/3

f  = ( y1 – y3 ) ( 1 -  )4/3
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 [2,3,4].
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